
FI Ottolaatikkovaunu BT-170B, -ESD DE Wagen BT-170B, -ESD
SW Vagn BT-170B, -ESD FR Chariot BT-170B, -ESD
EN Stacking bin trolley BT-170B, -ESD

M8 x 20

M8 x 12

A

ASSEMBLY INSTRUCTION

Treston Oy Head office
Sorakatu 1, FI-20730 TURKU
Tel. +358 10 4469 11
sales@treston.com   treston.com

For detailed contact information, please visit: 

https://www.treston.com/contact-us

906159
2024-03-11

1 (2)



M6 x 12

M8 x 201:5

XYZ

ASSEMBLY INSTRUCTION
906159

2024-03-11
2 (2)


